Welcome to download the Newest 2passeasy 70-762 dumps

@ 2 P QsseaQs lJ https://lwww.2passeasy.com/dumps/70-762/ (151 New Questions)

Exam Questions 70-762

Developing SQL Databases (beta)

https://lwww.2passeasy.com/dumps/70-762/

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 70-762 dumps

@ 2 p QsseaqQs LJ https://www.2passeasy.com/dumps/70-762/ (151 New Questions)

NEW QUESTION 1

You use Microsoft SQL Server Profile to evaluate a query named Queryl. The Profiler report indicates the following issues:

- At each level of the query plan, a low total number of rows are processed.

- The query uses many operations. This results in a high overall cost for the query. You need to identify the information that will be
What should you do?

A. Start a SQL Server Profiler trace for the event class Auto Stats in the Performance event category.

B. Create one Extended Events session with the sqlserver.missing_column_statistics eventadded.

C. Start a SQL Server Profiler trace for the event class Soft Warnings in the Errors and Warnings event category.
D. Create one Extended Events session with the sqlserver.missing_join_predicate event added.

Answer: D

useful for the optimizer.

Explanation: The Missing JoinPredicate event class indicates that a query is being executed that has no join predicate. This could result in a long-running query.

NEW QUESTION 2

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question

presents a different goal and answer choices, but the text of the scenario is exactly the same in each question in this series.

You have a database named Sales that contains the following database tables: Customer, Order, and Products. The Products table and the Order table are shown

in the following diagram.

| Orders * Products *
* OrderlD ProductID
ProductName ProductName
ProductiD 255”":“0:
onHan
EmployeelD ty .
OrderDate SupplierName
SupplieriD

Discontinued

The customer table includes a column that stores the data for the last order that the customer placed.

You plan to create a table named Leads. The Leads table is expected to contain approximately 20,000 records. Storage requirements for the Leads table must be

minimized.
The Leads table must include the columns described in the following table.

Column name Description
LeadID This column stores a unique vale that is automatically assigned for each lead.
[sCustomer This column indicates whether the lead is for a current customer.

The data types chosen must consume the least amount of storage possible. You need to select the appropriate data types for the Leads table.

In the table below, identify the data type that must be used for each table column. NOTE: Make only one selection in each column.

Answer Area
Data type LeadID IsCustomer
smallint ® ®
int ® ®
binary ® ®
numeric ® ®
bit ® ®
Answer:

Explanation: Bit is a Transact-SQL integer data type that can take a value of 1, 0, or NULL.

Smallint is aT ransact-SQL integer data type that can take a value in the range from -32,768 to 32,767. int, bigint, smallint, and tinyint (Transact-SQL)

Exact-number data types that use integer data.
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Data type Range Storage
bigint -2763 (-9,223,372,036,854,775,808) to 2763-1 (9,223,372,036,854,775,807) | 8 Bytes
int -27371 (-2,147,483,648) to 2*31-1 (2,147 483,647) 4 Bytes

4

smallint -2715 (-32

tinyint 0to

References: https://msdn.microsoft.com/en-us/library/ms187745.aspx https://msdn.microsoft.com/en-us/library/ms177603.aspx

NEW QUESTION 3

You are analyzing the performance of a database environment.

Applications that access the database are experiencing locks that are held for a large amount of time. You are experiencing isolation phenomena such as dirty,
nonrepeatable and phantom reads.

You need to identify the impact of specific transaction isolation levels on the concurrency and consistency of data.

What are the consistency and concurrency implications of each transaction isolation level? To answer, drag the appropriate isolation levels to the correct locations.
Each isolation level may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.

Isolation levels

SO Isolation Level
serializable
read uncommitted Isolation level

repeatable read

Isolation level

Aouajsisuon

Isolation level

Concurrency

Isolation level

Answer:

Explanation: Read Uncommitted (aka dirty read): A transaction T1executing under this isolation level can access data changed by concurrent transaction(s).
Pros:No read locks needed to read data (i.e. no reader/writer blocking). Note, T1 still takes transaction duration locks for any data modified.

Cons: Data is not guaranteed to be transactionally consistent.

Read Committed: A transaction T1 executing under this isolation level can only access committed data. Pros: Good compromise between concurrency and
consistency.

Cons: Locking and blocking. The data can change when accessed multiple times within the same transaction.

Repeatable Read: A transaction T1 executing under this isolation level can only access committed data with an additional guarantee that any data read cannot
change (i.e. it is repeatable) for the duration of the transaction.

Pros: Higher data consistency.

Cons: Locking and blocking. The S locks are held for the duration of the transaction that can lower the concurrency. It does not protect against phantom rows.
Serializable: A transaction T1 executing under this isolation level provides the highest data consistency including elimination of phantoms but at the cost of
reduced concurrency. It prevents phantoms by taking a range lock or table level lock if range lock can’t be acquired (i.e. no index on the predicate column) for the
duration of the transaction.

Pros: Full data consistency including phantom protection.

Cons: Locking and blocking. The S locks are held for the duration of the transaction that can lower the concurrency.

References:

https://blogs.msdn.microsoft.com/sqlcat/2011/02/20/concurrency-series-basics-of-transaction-isolation-levels/

NEW QUESTION 4

Note: This question is part of a series of questions that present the same scenario. Each question in this series contains a unique solution. Determine whether the
solution meets the stated goals.

The Account table was created by using the following Transact-SQL statement:
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CREATE TABLE Account

(
AccountNumber int NOT NULL,
ProductCode char(2) NOT NULL,
Status tinyint NOT NULL,
OpenDate date NOT NULL,
CloseDate date,
Balance decimal (15,2),
AvailableBalance decimal (15,2)

St
-e

There are more than 1 billion records in the Account table. The Account Number column uniquely identifies each account. The ProductCode column has 100
different values. The values are evenly distributed in the table. Table statistics are refreshed and up to date.
You frequently run the following Transact-SQL SELECT statements:

SELECT ProductCode, SUM(Balance) AS TetalSUM FREOM Account WHEREE ProductCode
<> 'CD" GROJP BY FroductCode;
SELECT AZccountBumber , Balance FROM AZccount WHEEE Production = “CDV

You must avoid table scans when you run the queries. You need to create one or more indexes for the table. Solution: You run the following Transact-SQL
statement:

CREATE CLUSTERED INDEX PK Account On Account (AccountNumber) ;
CREATE NONCLUSTERED INDEX IX Account ProductCode On Account (ProductCode)
INCLLUDE (Balance) ;

Does the solution meet the goal?

A. Yes
B. No

Answer: A

Explanation: Create a clustered index on theAccountNumber column as it is unique. Create a nonclustered index that includes the ProductCode column.
References: https://msdn.microsoft.com/en-us/library/ms190457.aspx

NEW QUESTION 5

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario is exactly the same in each question in the series.

You have a database named Sales that contains the following database tables. Customer, Order, and Products. The Products table and the order table shown in
the following diagram.

I Orders \ Products * I

* OrderlD ProductiD
ProductName ProductName
ProductiD Description

QtyonHand
EmployeelD _
SupplierName
OrderDate .
SupplierlD
Discontinued

The Customer table includes a column that stores the date for the last order that the customer placed.

You plan to create a table named Leads. The Leads table is expected to contain approximately 20,000 records. Storage requirements for the Leads table must be
minimized.

You need to begin to modify the table design to adhere to third normal form.

Which column should you remove for each table? To answer? drag the appropriate column names to the correct locations. Each column name may be used once,
more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.
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Columns Answer Area
ProductiD
Table Column to remove

ProductName
Description | Products Column
EmployeelD

Orders Column
OrderDate '

SupplierName
SupplieriD

Discontinued

Answer:

Explanation: In the Products table the SupplierName is dependent on the SupplierlD, not on the ProductID. In the Orders table the ProductName is dependent on
the ProductID, not on the OrderID. Note:

A table is in third normal form when the following conditions are met:

* |t is in second normal form.

* All non-primary fields are dependent on the primary key.

Second normal form states that it should meet all the rules for First LNormnal Form and there must be no partial dependencies of any of the columns on the
primary key.

First normal form (1NF) sets the very basic rules for an organized database:

* Define the data items required, because they become the columns in a table. Place related data items in a table.

* Ensure that there are no repeating groups of data.

* Ensure that there is a primary key.

References: https://www.tutorialspoint.com/sqgl/third-normal-form.htm

NEW QUESTION 6

Background

You have a database named HR1 that includes a table named Employee.

You have several read-only, historical reports that contain regularly changing totals. The reports use multiple queries to estimate payroll expenses. The queries run
concurrently. Users report that the payroll estimate reports do not always run. You must monitor the database to identify issues that prevent the reports from
running.

You plan to deploy the application to a database server that supports other applications. You must minimize the amount of storage that the database requires.
Employee Table

You use the following Transact-SQL statements to create, configure, and populate the Employee table:

CREATE TABLE dbo.Employee

(Employe=Id INT PRIMARY KEY,

LastName wvarchar (50),

FirstName wvarchar(s0),

DepartmentId int,

HireDate datetime,

TerminationDate datetime,

SupervisorId int,

CostCenterNumber int,

EmployeeStatus int,

EmployesPayRate int)
} GO
CREATE INDEX IX 1 on dbo.Employee (LastName, PirstName, DepartmentlId) INCLUDE (HireDate)
CREATE INDEX IX 2 on dbo.Employee (LastNames) INCLUDE (Employeeld, FirstName, Departmentld)
CREATE INDEX IX 3 on dbo.Employee (LastName, FirstName) INCLUDE (Departmentid)
CREATE INDEX IX 4 on dbo.Employese (LastName, FPirstName) INCLUDE (HireDate, Departmentld)
G0

INSERT INTO Employee (EmployeeID, LastName, CostCenterNumber) VALUES (1001, ‘“Employee A', 3001001)

INSERT INTO Employee (EmployeeIDl, LastName, CostCenterNumber) VALUES (1002, ‘Employee 8", 3001001)
G0
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Application

You have an application that updates the Employees table. The application calls the following stored procedures simultaneously and asynchronously:
- UspA: This stored procedure updates only the EmployeeStatus column.

- UspB: This stored procedure updates only the EmployeePayRate column.

The application uses views to control access to data. Views must meet the following requirements:

- Allow user access to all columns in the tables that the view accesses.

- Restrict updates to only the rows that the view returns. Exhibit

- Siaa
Key Lock
Request Mode X - HOBL 10: 72057594846340832 Owner Mode: X-
Associated objid:
1205 7594046540832
Chject name:
L e S MyDatabase . dbo. Faployee L Y ——
SErver process 1d: S6 Index name: PK_employce " Server process 1d: 58 T~
7 server batch Id: server batch Id: @
@ ) e P L B T S AN J Execution context Id: @
( . ' Deadlock priority: S
Key Lock | rn Log Used: 144
N Vi \ Owner 1d: 41443245
: H WOBL 1D: 72057594046840832 Transaction descriptor: 7
Ox15441548d28 g Associated objid: : Ol Sad 1553000
et o 2 TS : 7205 7594046840032 = e — s
object name:
base, .
Owner Mode: X- MyDatabase.dbo. Employee

Index name: P esployee ™ Request Mode X~

You view the Deadlock Graph as shown in the exhibit. (Click the Exhibit button.)
Use the drop-down menus to select the answer choice that answers each question based on the information presented in the graphic.
NOTE: Each correct selection is worth one point.

Answer Area

Why was process 56 chosen as the v

deadlock victim? The deadlock priority for process 56 is the lowest. |
The execution priority for process 56 is the shortest. |
The database engine randomly chose process 56.

The transaction roliback cost for process 56 if the last expensive.

Which lock type did process 56 v

attempt to aquire? a shared lock

an exclusive lock
a schema stability lock

Answer:

Explanation: References: https://msdn.microsoft.com/en-us/library/ms186736.aspx

NEW QUESTION 7

You have two database tables. Tablel is a partitioned table and Table 2 is a non-partitioned table.

Users report that queries take a long time to complete. You monitor queries by using Microsoft SQL Server Profiler. You observe lock escalation for Tablel and
Table 2.

You need to allow escalation of Tablel locks to the partition level and prevent all lock escalation for Table2. Which Transact-SQL statement should you run for
each table? To answer, drag the appropriate Transact-SQL statements to the correct tables. Each command may be used once, more than once, or not at all. You
may need to drag the split bar between panes or scroll to view content.
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Transact-SQL statements Answer Area

DBCC TRACEON (1211, -1) Table Transaction
L P gt T E A oy Ey s
Table1 Transact-SQL statement
DECC TRACE’GN{IEE‘I, _1} LR R N R R R RN ]
B P T [}
. r ct-50 tatement :
ALTER TABLE Tablel SET (LOCK ESCALATION - DISABLE) Tabie2 ot i Lo AR :

. ALTER TABLE Table2 SET {LDEK_ESGALETIDH - DISABLE)
ALTER TABLE Tablel SET (LOCK ESCALATION - AUTO)

| ALTER TABLE Table2? SET (LOCK_ESCALATION - AUTO)

| ALTER TABLE Tahlel SET {_LGCE_E;SCHLR‘_EIDH = TABLE_}

:ALTER TABLE Table2 SET (LOCK ESCALATION - TABLE)

Answer:

Explanation: Since SQL Server 2008 you can also control how SQL Server performs the Lock Escalation — through the ALTER TABLE statement and the property
LOCK_ESCALATION. There are 3 different options available:

Box 1: Tablel, Auto

The default option is TABLE, means that SQL Server *always* performs the Lock Escalation to the table level —even when the table is partitioned. If you have your
table partitioned, and you want to have a Partition Level Lock Escalation (because you have tested your data access pattern, and you don’t cause deadlocks with
it), then you can change the option to AUTO. AUTO means that the Lock Escalation is performed to the patrtition level, if the table is partitioned, and otherwise to
the table level.

Box 2: Table 2, DISABLE

With the option DISABLE you can completely disable the Lock Escalation for that specific table.

For partitioned tables, use the LOCK_ESCALATION option of ALTER TABLE to escalate locks to the HoBT level instead of the table or to disable lock escalation.
References:

http://www.sglpassion.at/archive/2014/02/25/lock-escalations/

NEW QUESTION 8
You have a database named Sales.
You need to create a table named Customer that includes the columns described in the following table:

Column Name Description Masking requirement
CustomerlD An integer primary key for the None
customer record
FirstName A string value that stored the first None
name of the customer
LastName A string value that stored the last None
name of the customer
CreditLimit A monetary value that stored the The entire field must be masked with
customer’s credit limit a value between 1 and 100.
MaobileMNo A ten-digit string value that stored the | The entire field must be masked with
mobile number of the customer the exception of the first three digits.
Email A string value that stored the email The entire field must be masked
address of the customer except the first letter of the user

name, the @ symbol, and the top-
level domain.

How should you complete the Transact SQL statement? To answer, select the appropriate Transact-SQL segments in the answer area.
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Answer Area

CREATE TABLE Customer
{

CustomerID int IDENTITY PRIMARY EKEY,
FirstName varchar (100),
LastName wvarchar(l100) NOT NULL,
CreditLimit money
A 4

'MASKED WITH (FUNCTION = ‘partial(1, "000", 100)")
MASKED WITH (FUNCTION = "default()’)
MASKED WITH (FUNCTION = ‘random(1,100))

MobileNO warchar (10) ¥ nNULL,

MASKED WITH (FUNCTION = ‘partial(3, “XXXXXXX", 0)) il
MASKED WITH (FUNCTION = ‘default())
MASKED WITH (FUNCTION = ‘random(1.3))

Email varchar(100) ¥ NULL,
MASKED WITH (FUNCTION = ‘email()’)
MASKED WITH (FUNCTION = ‘default()’)
MASKED WITH (FUNCTION = ‘partial(1,”XXXXXXX" .4))
MASKED WITH (FUNCTION = ‘partial(1,"@",4)')

) i

Answer:

Explanation: Box 1: MASKED WITH (FUNCTION ='default()")

The Defualt masking method provides full masking according to the data types of the designated fields. Example column definition syntax: Phone# varchar(12)
MASKED WITH (FUNCTION = 'default()’) NULL Box 2: MASKED WITH (FUNCTION ='partial(3,"XXXXXX",0)")

The Custom String Masking method exposes the first and last letters and adds a custom padding string in the middle. prefix,[padding],suffix

examples:

PhoneNumber varchar(10) MASKED WITH (FUNCTION = "partial(5,"XXXXXXX",0)") Box 3: MASKED WITH (FUNCTION ='email()")

The Email masking method which exposes the first letter of an email address and the constant suffix “.com”, in the form of an email address. .aXXX@XXXX.com.
Example definition syntax: Email varchar(100) MASKEDWITH (FUNCTION = 'email()") NULL References: https://msdn.microsoft.com/en-us/library/mt130841.aspx

NEW QUESTION 9
You are reviewing the execution plans in the query plan cache. You observe the following:

- There are a large number of single use plans.
- There are a large number of simple execution plans that use multiple CPU cores. You need to configure the server to optimize query plan execution.

Which two setting should you modify on the properties page for the Microsoft SQL Server instance? To answer, select the appropriate settings in the answer area.
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Answer:

Explanation: * Optimize for ad hoc workloads

The optimize for ad hoc workloads option is used to improve the efficiency of the plan cache for workloads that contain many single use ad hoc batches. When this
option is set to 1, the Database Engine stores a small compiled plan stub in the plan cache when a batch is compiled for the first time, instead of the full compiled
plan. This helps to relieve memory pressure by not allowing the plan cache to become filled with compiled plans that are not reused.

* Cost Threshold for Parallelism

Use the cost threshold for parallelism option to specify the threshold at which Microsoft SQL Server creates and runs parallel plans for queries. SQL Server creates
and runs a parallel plan for a query only when the estimated cost to run a serial plan for the same query is higher than the value set in cost threshold for
parallelism. The cost refers to an estimated elapsed time in seconds required to run the serial plan on a specific hardware configuration.

5 means 5 seconds, but is is 5 seconds on a machine internal to Microsoft from some time in the 1990s. There's no way to relate it to execution time on your
current machine, so we treat it as a pure number now. Raising it to 50 is a common suggestion nhowadays, so that more of your simpler queries run on a single
thread.

NEW QUESTION 10

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a database that contains a table named Employees. The table stores information about the employees of your company.

You need to implement and enforce the following business rules:

- Limit the values that are accepted by the Salary column.

- Prevent salaries less than $15,000 and greater than $300,000 from being entered.

- Determine valid values by using logical expressions.

- Do not validate data integrity when running DELETE statements. Solution: You implement a FOR UPDATE trigger on the table. Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation: References:
http://stackoverflow.com/questions/16081582/difference-between-for-update-of-and-for-update

NEW QUESTION 10
Note: This question is part of a series of questions that use the same or similar answer choices. An Answer choice may be correct for more than one question in
the series. Each question independent of the other questions in this series. Information and details provided in a question apply only to that question.
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You are a database developer for a company. The company has a server that has multiple physical disks. The disks are not part of a RAID array. The server hosts
three Microsoft SQL Server instances. There are many SQL jobs that run during off-peak hours.

You observe that many deadlocks appear to be happening during specific times of the day.

You need to monitor the SQL environment and capture the information about the processes that are causing the deadlocks.

What should you do?

A. Create a sys.dm_os_waiting_tasks query.

B. Create a sys.dm_exec_sessions query.

C. Create a PerformanceMonitor Data Collector Set.
D. Create a sys.dm_os_memory_objects query.

E. Create a sp_configure ‘max server memory’ query.
F. Create a SQL Profiler trace.

G. Create a sys.dm_os_wait_stats query.

H. Create an Extended Event.

Answer: F

Explanation: To view deadlock information, the Database Engine provides monitoring tools in the form of two trace flags, and the deadlock graph event in SQL
Server Profiler.

Trace Flag 1204 and Trace Flag 1222

When deadlocks occur, trace flag 1204 and trace flag 1222 return information that is captured in the SQL Server error log. Trace flag 1204 reports deadlock
information formatted by each node involved in the deadlock. Trace flag 1222 formats deadlock information, first by processes and then by resources. It is possible
to enable both trace flags to obtain two representations of the same deadlock event.

References: https://technet.microsoft.com/en-us/library/ms178104(v=sql.105).aspx

NEW QUESTION 11
You have an existing Microsoft SQL Trace script. You plan to convert the script to an Extended Events session.
You need to collect the trace ID and other required information. Which system table should you use?

A. dbo.syssessions

B. trace xenction_map
C.db

D. syinotifications

E. sysdbmaintplan.

Answer: A

NEW QUESTION 14

You have a database that users query frequently.

The users report that during peak business hours, the queries take longer than expected to execute.

A junior database administrator uses Microsoft SQL Server Profiler on the database server to trace the session activities.

While performing the trace, the performance of the database server worsens, and the server crashes.

You need to recommend a solution to collect the query run times. The solution must minimize the impact on the resources of the database server.
What should you recommend?

A. Increase the free space on the system drive of the database server, and then use SQL Server Profiler on the server to trace the session activities.
B. Collect session activity data by using SQL Server Extended Events.

C. Clean up tempdb, and then use SQL Server Profiler on the datafile server to trace the session activities.

D. Collect performance data by using a Data Collector Set (DCS) in Performance Monitor.

Answer: A

NEW QUESTION 16

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a database named DB1 that includes a table named sales . Orders. You grant a user named Userl select permissions on the sales schema.

You need to ensure that Userl can select data from the sales, orders table without specifying the schema name in any Transact SQL statements.

Solution: You move the sales.orders table to the dbo schema. Does the solution meet the goal?

A. Yes
B. No

Answer: B

NEW QUESTION 21
You have the following stored procedure that is called by other stored procedures and applications:

CREATE PROCEDURE UpdateCustomer @CustomerId INT

AS
BEGIN
EXEC ProcessCustomsr Internal &CustomerId
DECLARE @5Status INT
SELECT @S5tatus = Status FROM Customsr WHERE CustomerId =
ECustomerId
END

You need to modify the stored procedure to meet the following requirements:
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Always return a value to the caller.

Return O if @Status is NULL.

Callers must be able to use @Status as a variable.

Which two actions should you perform? Each correct answer presents part of the solution. NOTE: Each correct selection is worth one point.

A. Replace NULL values with 0. Add a PRINT statement to return @ Status.
B. Add a RETURN statement.

C. Replace NULL values with 0. Add an output parameter to return @ Status.
D. Replace NULL values with 0. Add a SELECT statement to return @ Status.
E. Add a PRINT statement.

F. Add a SELECT statement to return @ Status.

G. Add an output parameter to return @ Status.

Answer: BC

Explanation: There are three ways of returning data from a procedure to a calling program: result sets, output parameters, and return codes.
References:
https://docs.microsoft.com/en-us/sql/relational-databases/stored-procedures/return-data-from-a-stored-procedure

NEW QUESTION 23

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario is exactly the same in each question in this series.

You have a database named DB1 that contains the following tables: Customer, CustomerToAccountBridge, and CustomerDetails. The three tables are part of the
Sales schema. The database also contains a schema named Website. You create the Customer table by running the following Transact-SQL statement:

CREATE TABPLE Custcomer

{
Custcomerhilumber int MNOT NULL,
CuscomerhiName wvarchar (50) NOT MNULL,
CreateDate date NOT MNULL,
Fe=nder lboitc,
DAddciress ~varchar (50)
City warchar (50)
Statce char (Z) .,
CustomerStatus=s it NOT NULIL.
MaritalStatus bit,
segment varchar (S) .
CountrvCode char(Z) .
Birchday datce,
PoscalCode char (S) .,
Phonellumlbhe=r —wrarchar (Z0) ,
Aoccountl chaxrxr (7).
AccountlStatus bitc,
AccountZ char (7).,
AccountZStatu= bit,
COMNSTRAINT PK Customer PRIMARY KEY CLUSTERED {(Customeriumier)

The value of the CustomerStatus column is equal to one for active customers. The value of the Accountl1Status and Account2Status columns are equal to one for
active accounts. The following table displays selected columns and rows from the Customer table.

Customer | CustomerName | Gender Accountl | AccountlStatus | Account2 | Account2Status
ID

101 Name A 0 0001001 0 0001002 1

102 Name B 1 0002001 | 0002002 0

103 Name C 0 0003001  : 0003002 1

You plan to create a view named Website.Customer and a view named Sales.FemaleCustomers. Website.Customer must meet the following requirements:

* Allow users access to the CustomerName and CustomerNumber columns for active customers.

* Allow changes to the columns that the view references. Modified data must be visible through the view.

* Prevent the view from being published as part of Microsoft SQL Server replication. Sales.Female.Customers must meet the following requirements:

* Allow users access to the CustomerName, Address, City, State and PostalCode columns.

* Prevent changes to the columns that the view references.

* Only allow updates through the views that adhere to the view filter.

You have the following stored procedures: spDeleteCustAcctRelationship and spUpdateCustomerSummary. The spUpdateCustomerSummary stored procedure
was created by running the following Transact-SQL statement:
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CREATE PROCEDURE uspUpdateCustomerSummary
gCustomerId INT
AS
BEGIN
SET NOCOUNT on;:
UPDATE CustomerDetails SET TotalDepositRecountlOunt — TotallepositAccountCount + 1 WHERE CustomerID = ECustomerID;
BEGIN TERAN;
BEGIN TRY
UPDATE CustomerDetails SET TotalAccountCount = TotalAccountCount + 1 WHERE CustomsrID = ECustomerID;
END TRY
BEGIN CATCH
IF @RTRANCOUNT > 0
BOLLBACKR TRAN;
END CATCH
IF BETRANCOUNT > 0
COMMIT TRAN;

You run the spUpdateCustomerSummary stored procedure to make changes to customer account summaries. Other stored procedures call the
spDeleteCustAcctRelationship to delete records from the CustomerToAccountBridge table.

When a procedure calls spDeleteCustAcctRelationship, if the calling stored procedures has already started an active transaction, all the detections made by the
spDeleteCustAccRelationship stored procedure must be committed by the caller; otherwise changes must be committed within the spDeleteCustAcctRelationship
stored procedure.

If any error occurs during the delete operation, only the deletes made by the soDeleteCustACCTRelationships stored procedure must be rolled back and the status
must be updated.

You need to complete the stored procedure to ensure all the requirements are met.

How should you complete the procedure? To answer, drag the Transact-SQL segments to the correct location. Each transact-SQL segment may be used once,
more than once or not at all. You may need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.

Tramsact-SQOL segments Answer Area
e CREATE FROCEDURE spDeleteCusticctRelaticnahip
Lot SR ey e (GCustomerid int)
RS
COMMIT TRAMSRACTION; BEGIN
SET NOCQUNT ON:
DECLAR ATz St ceclhl dy CH L = VR
POLLEACE TRANSACTION DECLARE (OTranStartedh {euJ, HARI{L) "

DECLARE @atatus INT = 0Q;

SAVE TRANESACTION SavePoint; IF Q@TRAMCOUNT =

SET @TranaStarcedAlready = “y*;
ROLLBACK TRANSACTION SaveFoint; IF @TranStartedilrsady = “¥*

ransact=50Lscatemnent

]
al
]
L]

Transact—=SgLstatc&ment

BEGIN TRY
DELETE FROM CustomerTohcoountBricge WHERE CustomerId = ACuscomerId;
IF ETransStarcedhAlrsady = "RY
BEGIN Transact=S0Lstatemsnt

SET @S5tatus = 0;
EMD
ERD TRY
BZEIN CATCH

IF @TranStarcedilreacy = “N"

Transact=50Lstatemsnt

END CATCH; END;

Answer:

Explanation: Savepoints offer a mechanism to roll back portions of transactions. You create a savepoint using the SAVE TRANSACTION savepoint_name
statement. Later, you execute a ROLLBACK TRANSACTION savepoint_name statement to roll back to the savepoint instead of rolling back to the start of the
transaction.

References: https://technet.microsoft.com/en-us/library/ms178157(v=sql.105).aspx

NEW QUESTION 24
Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a table that has a clustered index and a nonclustered index. The indexes use different columns from the table. You have a query named Queryl that
uses the nonclustered index.
Users report that Queryl takes a long time to report results. You run Queryl and review the following statistics for an index seek operation:
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Index Seek (NonClustered)

Scan a particular range of rows from a nonclustered index.

Physical Operation Index Seek
Logical Operation Index Seek
Actual Execution Mode Row
Actual Number of Rows 3571454
Actual Number of Batches 0
Estimated 1/0 Cost 0.0093577
Estimated Operator Cost 0.0107304 (0%)
Estimated CPU Cost 0.0013727
Estimated Subtree Cost 0.0107304
Number of Executions 8
Estimated Number of Rows 0
Estimated Row Size 198
Actual Rebinds 0
Actual Rewinds 0
Ordered True
Node ID 100

You need to resolve the performance issue. Solution: You drop the nonclustered index.
Does the solution meet the goal?

A. Yes
B. No

Answer: B

NEW QUESTION 27

You are creating the following two stored procedures:

A natively-compiled stored procedure

An interpreted stored procedure that accesses both disk-based and memory-optimized tables

Both stored procedures run within transactions.

You need to ensure that cross-container transactions are possible. Which setting or option should you use?

A. the SET TRANSACTION_READ_ COMMITTED isolation level for the connection

B. the SERIALIZABLE table hint on disk-based tables

C. the SET MEMORY_OPTIMIZED _ELEVATE_TO_SNAPSHOT=ON option for the database
D. the SET MEMORY_OPTIMIZED_ELEVATE_TO_SNAPSHOT=OFF option for the database

Answer: C

Explanation: Provide a supported isolation level for the memory-optimized table using a table hint, such as WITH (SNAPSHOT). The need for the WITH
(SNAPSHOT) hint can be avoided through the use of the database option MEMORY_OPTIMIZED ELEVATE_TO_SNAPSHOT. When this option is set to ON,
access to a memory-optimized table under a lower isolation level is automatically elevated to SNAPSHOT isolation.

NEW QUESTION 30

You have a trigger named CheckTriggerCreation that runs when a user attempts to create a trigger. The CheckTriggerCreation trigger was created with the

ENCRYPTION option and additional proprietary business logic.

You need to prevent users from running the ALTER and DROP statements or the sp_tableoption stored procedure.
Which three Transact-SQL segments should you use to develop the solution? To answer, move the appropriate Transact-SQL segments from the list of Transact-

SQL segments to the answer area and arrange them in the correct order.
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Commands Answer Area

DISABLE TRIGGER CheckIriggerCreation ON
DATABASE;

ENABLE TRIGEFER CheckTriggerCreatzon ON
DATABASE;

CREATE TRIGGER CheckIriggerCreation
CN DATABASE

FOR CREATE_TRIGGER

RS

RAISERROR ('Error message’, 10, 1)
RCLLBACKE

©
®,

©

=0

CREATE TRIGFER CheckTableChanges

ON DATABASE
FOR ALTER TABLE, TROP TABLE
RE

RBAISERROR ("Error message’,
ROLLEACK

10,

G0

DROP TRIGGER CheckIrigerCreation ON
DATABASE:;

CREARTE TRIGGER CheckTableChanges
ON DATABASE
FOR DDL TABLE EVENTIS

AS
RAISERROR ("Error message’, 10, 1)
ROLLEACE
0
Answer:
Explanation:

Commands Answer Area

DISABLE TRIGGER CheckiriggerCreation ON

DATABASE: DISABLE TRIGGER CheckTriggerCreation ON

DATABASE:

ENABLE TRIGGER CheckTriggerCreation ON

DRIABARSE: CREATE TRIGGER CheckTableChanges
T — ——— ON DATABASE

cntn:- TRIGGER CheckTriggerCreation FOR DDL TASLE TVENTS

CR DATABASE A& - 1t

ig“ CREATE_TRIGGER @ RAISERROR (‘Error message’, 10, 1) @
RAISERROR ("Error message’, 10, 1) a0 ROLLBACK
ROLLBACK

=0

ENABLE TRIGGER CheckIriggerCreation ON
CREATE TRIGGER CheckTableChanges DATABASE;

ON DATABASE

FOR ALTER_TABLE, DRCP_TABLE

AS
RAISERROR ('"Error message’,
ROLLBACK

10,

=0

DRCP TRIGGER CheckIrigerCreation ON
DATABASE:

CREATE TRIGGER CheckTableChanges

ON DAT E

FOR DDL_TABLE EVENTIS

AS
PAISERROR ("Error message’, 10, 1)
ROLLEACK

=0
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NEW QUESTION 32
Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario is exactly the same in each question in this series.

You have a database named DB1 that contains the following tables: Customer, CustomerToAccountBridge, and CustomerDetails. The three tables are part of the

Sales schema. The database also contains a schema named Website. You create the Customer table by running the following Transact-SQL statement:

CREATE TABILE Customer

{
Custcomerifumber int NOT NULL.,
CustomeriName varchar (50) NOT NUOLL,
CreatcelDace dace NOT MNULL,
Cender bit,
Addreass wvarchar (50)
City ~rarchax (54Q)
sStatce char (=) .,
CustomerStatus bit NOT NULIL,
MaricalStatus bit,
Segment wvarchaxrxr (S5S) .
Countcrvicode chariliz2) .
Birthday 4dJatce,
PostalCode char {(S) .,
PhonelMNumber ~wvarchaxr (Z0) .,
Accountl char (7).
AoccountlStatus kbit,
Account:2 charxr (7)) .,
Account2Status bitc,
CONSTRAINT PK Customexr PRIMARY KEY

CLUSTERED (CustomerbMumlcer)

The value of the CustomerStatus column is equal to one for active customers. The value of the AccountlStatus and Account2Status columns are equal to one for
active accounts. The following table displays selected columns and rows from the Customer table.

Customer | CustomerName | Gender Accountl | AccountlStatus | Account2 | Account2Status
ID

101 Name A 0 0001001 0 0001002 1

102 Name B 1 0002001 1 0002002 0

103 Name C 0 0003001 1 0003002 1

You plan to create a view hamed Website.Customer and a view named Sales.FemaleCustomers. Website.Customer must meet the following requirements:
* Allow users access to the CustomerName and CustomerNumber columns for active customers.

* Allow changes to the columns that the view references. Modified data must be visible through the view.

* Prevent the view from being published as part of Microsoft SQL Server replication. Sales.Female.Customers must meet the following requirements:

* Allow users access to the CustomerName, Address, City, State and PostalCode columns.

* Prevent changes to the columns that the view references.

* Only allow updates through the views that adhere to the view filter.

You have the following stored procedures: spDeleteCustAcctRelationship and spUpdateCustomerSummary. The spUpdateCustomerSummary stored procedure

was created by running the following Transact-SQL statement:

i AT ADASDAHDD = o =
CREATE PROCEDURE L‘:lJ --L:UZT.EE':H:‘.‘.“.{.’E
iy ~mmrTA THT
ECustomerld INT
b Wl
-
aahs
BEGIN
g —— LR il
SET NOCOUNT on;
UPDATE CustomerDetails SET TotalDe 11:.';_.-.-::';".*”?:;1*. - TotalDepositAcoountCount + 1 WHERE CustomerID = @CustomerIl
EGIN TRAK;
BEGIN TRY
"'-'i' Ty - - sla ODM Maka]bsmsms o - TR i g - FET e e b o= B N k. )
UPDATE CustomerDetails SET TotaliccountCount = TotallccountCount + 1 WHERE CustomerID = @CustomerID;
A
A 4:\-

BEGIN CATCH
IF §RTRANCOUNT > 1

AT«
"‘.u-.J.........- ...'L"....'..r

END CATCH
IF ERTRANCOUNT > 0

SO T -r-:-.I]

L | B Y o ¥ 1

You run the spUpdateCustomerSummary stored procedure to make changes to customer account summaries. Other stored procedures call the
spDeleteCustAcctRelationship to delete records from the CustomerToAccountBridge table.
You need to create Website Customer.

How should you complete the view definition? To answer, drag the appropriate Transact-SQL segments to the correct locations, Each Transact-SQL segment may

be used once, more than once or not at all. You may need to drag the split bar between panes or scroll to view content.
NOTE: Each correct selection is worth one point. NOTE: Each correct selection is worth one point.
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Transact-SQL segments Answer area

WITH SCHEMABINDING

WITH ENCRYPTION AS SELECT s.CustomerID, s.CustomerName
M Sales.Customer as s
s

WEEE Ry SHELLON WHERE s.CustomerStatus=1

WITH VIEW METADATA : Transact-50L statement

Answer:

Explanation: Box 1: WITH ENCRYPTION

Using WITH ENCRYPTION prevents the view from being published as part of SQL Server replication. Box 2: WITH CHECK OPTION

CHECK OPTION forces all data modification statements executed against theview to follow the criteria set within select_statement. When a row is modified
through a view, the WITH CHECK OPTION makes sure the data remains visible through the view after the modification is committed.

Note: Website.Customer must meet the followingrequirements:

NEW QUESTION 37

Note: This question is part of a series of questions that use the same answer choices. An answer choice may be correct for more than one question on the series.
Each question is independent of the other questions in this series. Information and details provided in a question apply only to that question.

You work on an OLTP database that has no memory-optimized file group defined.

You have a table named tblTransaction that is persisted on disk and contains the information described in the following table:

ltem Name Data Type Nullable Notes

Column TransactionDate Date Mo For each transaction date, there
are only about 100,000 records.

The table contains over one billion
records in total.

Column SequenceNo bigint MNo Uniguely identifies a transaction
record within a date
Column Accountld int MNo
Column ValueType char(3) No
Column Amount decimail(20.2) | Yes
IX_ValueType Monclustered columnstore index on

the ValueType column.

Users report that the following query takes a long time to complete.

SELECT TransactlionDate, CCOUNT(*) &8 TeotalCount FRCM tklTransacticn
WHERE TransactionDate — DATERADD(D, -1, CCONVERT (DATE, CONVERT (VARCHLE(S),
GETDATE () ,112) 112} )

GROUE BY TransactionDate;

You need to create an index that:

-improves the query performance

-does not impact the existing index

-minimizes storage size of the table (inclusive of index pages). What should you do?

A. Create a clustered index on the table.

B. Create a nonclustered index on the table.

C. Create a nonclustered filtered index on the table.

D. Create a clustered columnstore index on the table.

E. Create a nonclustered columnstore index on the table.
F. Create a hash index on the table.

Answer: C

Explanation: A filtered index is an optimized nonclustered index, especially suited to cover queries that select from a well-defined subset of data. It uses a filter

predicate to index a portion of rows in the table. A well-designed
filtered index can improve query performance, reduce index maintenance costs, and reduce index storage costs compared with full-table indexes.

NEW QUESTION 40
Note: This question is part of a series of questions that present the same scenario. Each question in this series contains a unique solution. Determine whether the

solution meets the stated goals.
Your company has employees in different regions around the world.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 70-762 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/70-762/ (151 New Questions)

You need to create a database table that stores the following employee attendance information:

- Employee ID

- date and time employee checked in to work

- date and time employee checked out of work

Date and time information must be time zone aware and must not store fractional seconds. Solution: You run the following Transact-SQL statement:

CREATE TABLE [dbo]. [EmployeeAttendance] (
EmployeeID int NOT NULL,

DateChekedIn datetimeofset NOT NULL,
DateCheclOut datetimeofset NOT NULL)

Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation: Datetimeoffset, not datetimeofset, defines a date that is combined with a time of a day that has time zone awareness and is based on a
24-hourclock.

Syntaxis: datetimeoffset [ (fractional seconds precision) ]

For the use "datetimeoffset"”, the Fractional seconds precision is 7. References: https://msdn.microsoft.com/en-us/library/bb630289.aspx

NEW QUESTION 41

You have several real-time applications that constantly update data in a database. The applications run more than 400 transactions per second that insert and
update new metrics from sensors.

A new web dashboard is released to present the data from the sensors. Engineers report that the applications take longer than expected to commit updates.
You need to change the dashboard queries to improve concurrency and to support reading uncommitted data. What should you do?

A. Use the NOLOCK option.

B. Execute the DBCC UPDATEUSAGE statement.

C. Use the max worker threads Option.

D. Use a table-valued parameter.

E. Set SET ALLOW SNAPSHOT ISOLATION to ON.

F. Set SET XACTJVBORT to ON.

G. Execute the alter table ti set (Lock_ESCALATION = auto); statement.
H. Use the output parameters.

Answer: C

NEW QUESTION 43

You are developing an ETL process to cleanse and consolidate incoming data. The ETL process will use a reference table to identify which data must be cleansed
in the target table. The server that hosts the tables restarts daily.

You need to minimize the amount of time it takes to execute the query and the amount of time it takes to populate the reference table.

What should you do?

A. Convert the target table to a memory-optimized tabl

B. Create a natively compiled stored procedure to cleanse and consolidate the data.

C. Convert the reference table to a memory-optimized tabl

D. Set the durability option toSCHEMA _AND_DATA>

E. Create a native compiled stored procedure to implement the ETL process for both tables.
F. Convert the reference table to a memory-optimized tabl

G. Set the durability option to SCHEMA_ONLY.

Answer: D

NEW QUESTION 45

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a database named DB1 that includes a table named sales .orders. You grant a user named Userl select permissions on the Sales schema.

You need to ensure that Userl can select data from the sales .orders table without specifying the schema name in any Transact -SQL statements.

Solution: You set the default database for Userl to DB1. Does the solution meet the goal?

A. Yes
B. No

Answer: B

NEW QUESTION 46
You use Microsoft SQL Server Profile to evaluate a query named Queryl. The Profiler report indicates the following issues:
At each level of the query plan, a low total number of rows are processed.
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The query uses many operations. This results in a high overall cost for the query. You need to identify the information that will be useful for the optimizer.
What should you do?

A. Start a SQL Server Profiler trace for the event class Performance statistics in the Performance eventcategory.
B. Create one Extended Events session with the sqglserver.missing_column_statistics event added.

C. Start a SQL Server Profiler trace for the event class Soft Warnings in the Errors and Warnings event category.
D. Create one Extended Events session with the sqlserver.error_reported event added.

Answer: A

Explanation: The Performance Statistics event class can be used to monitor the performance of queries, stored procedures, and triggers that are executing. Each
of the six event subclasses indicates an event in the lifetime of queries, stored procedures, and triggers within the system. Using the combination of these event
subclasses and the associated sys.dm_exec_query_stats, sys.dm_exec_procedure_stats and sys.dm_exec_trigger_stats dynamic management views, you can
reconstitute the performance history of any given query, stored procedure, or trigger.

References:

https://docs.microsoft.com/en-us/sql/relational-databases/event-classes/performance-statistics-event-class?view=

NEW QUESTION 48

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a database that contains a table named Employees. The table stores information about the employees of your company.

You need to implement and enforce the following business rules:

- Limit the values that are accepted by the Salary column.

- Prevent salaries less than $15,000 and greater than $300,000 from being entered.

- Determine valid values by using logical expressions.

- Do not validate data integrity when running DELETE statements.

Solution: You implement cascading referential integrity constraints on the table. Does the solution meet the goal?

A. Yes
B. No

Answer: A

Explanation: References: https://technet.microsoft.com/en-us/library/ms186973(v=sql.105).aspx

NEW QUESTION 51
You are planning a set of stored procedures that must be able to access memory-optimized tables. You need to optimize the performance of the stored
procedures. Which statement should you include in the stored procedure definitions?

A. WITH RECOMPILE

B. WITH NATIVE_COMPILATION
C. WITH EXECUTE AS SELF

D. WITM NO INFOMSG5

Answer: D

NEW QUESTION 54

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

The Account table was created by using the following Transact-SQL statement:

CREATE TABLE Account
{
Accountumber int NOT MNULL,
ProductCode char{2) NOT NULL,
Status tinyint HOT NULL,
OpenDate date NOT NULL,
CloseDate date,
Balance decimal(15,2),
There are more than 1 billion records in the Account table. The AccountNuwber column uniquely identifies each account. The productcode column has 100
different values. The values are evenly distributed in the table. Table statistics are refreshed and up to date.
You frequently run the following Transact-SQL select statements:
SELECT ProductCode, SUM(Balance) AS TotalSUH FROM Account WHERE ProductCode <> 'CD' GROUP 8Y ProductCode; SELECT AccountNupber, Balance
FROM Account WHERE ProductCode - 'CD";

You must avoid table scans when you run the queries. You need to create one or more indexes for the table. Solution: You run the following Transact-SQL
statements:

CREATE CLUSTERED INDEX PK_Account ON Account(AccountNumber);
CREATE NONCLUSTERED INDEX IX Account ProductCode ON Account(ProductCode) INCLUDE (Balance);

Does the solution meet the goal?

A. Yes
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B. No

Answer: A

NEW QUESTION 56
You are creating a stored procedure which will insert data into the table shown in the Database schema exhibit. (Click the exhibit button.)

BusinessEntityContact (Person)

) ¥ BusinessEntitylD
BusinessEntityAddress (Person)

Y PersoniD
¥ BusinessEntitylD Y ContactTypelD
¥ AddressiD oo rowguid
Y AddressTypelD ModifiedDate
rowguid
ModifiedDate 3
Y
BusinessEntity(Person)
v Y BusinessEntitylD
rowguid
AddressType (Person) wg
o ModifiedDate
Y AddressTypelD
Name
rowguid
ModifiedDate

You need to insert a new customer record into the tables as a single unit of work.

In which order should you use the Transact-SQL segments to develop the solution? To answer, move the appropriate Transact-SQL segments to the answer area
and arrange the, in the correct order.

NOTE: More than one order of answer choices is correct. You will receive credit for any of the correct orders you select.

Transact-SOL segments Answer Area

COMMIT TRANSACTION
INSERT INTO Person.AddressType
| INSERT INFO Person.BusinessEntityAddress

INSERT INTO Person. BusinessEntity ;
BEGIN TRANSACTION @

INSERT INTO Person.BusinessEntityContact

Answer:

Explanation: The entities on the many side, of the 1-many relations, must be added before we add the entities on the 1-side.

We must insert new rows into BusinessEntityContact and BusinessEntityAddress tables, before we insert the corresponding rows into the BusinessEntity and
AddressType tables.

NEW QUESTION 57
You run the following Transact-SQL statements:
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CREATE TABLE Customers(
CustomerID INT NOT NULL IDENTITY PRIMARY KEY CLUSTERED,
Customeriame NVARCHAR (18@) UNIQUE NOT NULL

)

CREATE TABLE Orders(
OrderID INT NOT NULL IDENTITY PRIMARY KEY CLUSTERED,
CustomerID INT NOT NULL REFERENCES Customers (CustomerID),

OrderDate DATE NOT NULL
CREATE VIEW v_CustomerOrder

AS SELECT

b.CustomerName, a.OrderlID, a.OrderDate,

(SELECT COUNT(*) FROM Orders ¢ WHERE c.CustomerID = a.CustomerID) AS CustomerOrderCount
FROM Orders a
INNER JOIN Customers b ON a.CustomerID = b.CustmIID

Records must only be added to the orders table by using the view. If a customer name does not exist then a new customer name must be created.
You need to ensure that you can insert rows into the orders table by using the view. What should you do?

A. Add the CustomerID column from the Orders table and the WfTH CHECK OPTION statement to the view.

B. Create an INSTEAD of trigger on the view.

C. Add the WITH SCHEMABINDING statement to the view statement and create a clustered index on the view.

D. Remove the subquery from the view, add the WITH SCHEMABINDING statement, and add a trigger to the Orders table to perform the required logic.

Answer: C

NEW QUESTION 58
You have a database that contains both disk-based and memory-optimized tables.
You need to create two modules. The modules must meet the requirements described in the following table.

Module Requirements
e must be encrypted by using the ENCRYPTION option
e must support updates on both disk-based and memory-

Module 1 optimized tables

e must support OUTPUT parameters

 must access only memory-optimized tables
Module 2 o must support updates on memory-optimized tables

o must support heavy aggregations with highest performance
e must support OUTPUT parameters.

Which programming object should you use for each module? To answer, select the appropriate object types in the answer area.
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Answer Area

Module
Module

Module2

Answer:

Explanation: Module 1: Interpreted stored procedure

Object type

.4

] interpreted stored procedure

‘multi-statement table-valued function

' natively compiled stored procedure
natively compiled user-defined function
user-defined scalar function

e = - e

v

interpreted stored procedure

| multi-statement table-valued function

' natively compiled stored procedure
natively compiled user-defined function
| user-defined scalar function

An interpreted stored procedure can access both disk-based and memory-optimized tables. Module 2: Natively compiled stored procedure
Natively compiled stored procedures are Transact-SQL stored procedures compiled to native code that access memory-optimized tables. Natively compiled stored
procedures allow for efficient execution of the queries and business logic in the stored procedure.

References:

https://docs.microsoft.com/en-us/sql/relational-databases/in-memory-oltp/natively-compiled-stored-procedures?

NEW QUESTION 59

You create a database table named FactSales by running the following Transact-SQL statements:

CREATE TABLE FactSales (
DateRKey [int] NOT NULL,
Productkey [int] NOT NULL,
CustomerKey [int] NOT NULL,
EmployeeKey [int] NOT NULL,
SalesAmount money,
SalesCost money

INDEX ix FactSales CLUSTERED (DateRey));

CREATE INDEX ix
CREATE INDEX
CREATE INDEX

FactSales ProductKey ON FactSales (ProductKRey);
ix FactSales CustomerRey ON FactSales (CustomerKey);
ix FactSales EmployeeRey ON FactSales (EmployeeRey);

You must optimize the indexes without making changes to the ix_FactSales_EmployeeKey index. You need to implement a columnstore index for the table.

How should you complete the Transact-SQL code? To answer, select the appropriate Transact-SQL segments in the answer area.

NOTE: Each correct selection is worth one point.
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Answer Area

DROP INDEX ix_FactSales_Productkey ON FactSales
DROP INDEX ix_FactSales _EmployeeKey ON FactSales
DROP INDEX ix_FactSales ON FactSales

CREATE CLUSTERED COLUMNSTORE INDEX ix FactSales ON FactSales I
DROP INDEX ix_FactSales CustomerKey ON FactSales -
DROP INDEX ix_FactSales EmployeeKey ON FactSales

DROP INDEX ix_FactSales ON FactSales

v

CREATE CLUSTERED COLUMNSTORE INDEX ix FactSales ON FactSales

CREATE CLUSTERED COLUMNSTORE INDEX ix_FactSales ON FactSales WITH (DROP_EXISTING = ON}
ALTER INDEX ix_FactSales_EmployeeKey ON FactSales REBUILD

CREATE INDEX ix_FactSales_EmployeeKey ON FactSales (EmployeeKey);

Answer:
Explanation:
Answer Area
v
DROP INDE}( ix FactSaIes Prcductl(ey C}N FactSales |
DROP INDEX ix_ FactSaIes ON FactSaIes
| B4
| CREATE CLUSTERED COLUMNSTORE INDEX ix FactSales ON FactSales j
DROFP IND 1x actSales_Customerk ey ales
I DRU 3 L Lodle
DROP INDEX ix_ FactSales ON FactSales
v

RE/ RED COLUMNSTORE INDEX ix FactSales ON FactSale |

CREATE CLUSTERED COLUMNSTORE INDEX ix_FactSales ON FactSales WITH (DROP_EXISTING = ON

R INDEX ix_FactSales_Employeekey ON Factsales REBUILD
CREATE INDEX ix_FactSales_EmployeeKey ON FactSales (EmployeeKey);

NEW QUESTION 62

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a database that contains a table named Employees. The table stores information about the employees of your company.

You need to implement the following auditing rules for the Employees table:

- Record any changes that are made to the data in the Employees table.

- Customize the data recorded by the audit operations.

Solution: You implement a user-defined function on the Employees table. Does the solution meet the goal?

A. Yes
B. No

Answer: A
Explanation: SQL Server 2016 provides two features that track changes to data in a database: change data capture and change tracking. These features enable
applications to determine the DML changes (insert, update, and delete operations) that were made to user tables in a database.

Change data is made available to change data capture consumers through table-valued functions (TVFs). References: https://msdn.microsoft.com/en-
us/library/cc645858.aspx
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NEW QUESTION 64

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some questions sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a database that is 130 GB and contains 500 million rows of data.

Granular transactions and mass batch data imports change the database frequently throughout the day. Microsoft SQL Server Reporting Services (SSRS) uses
the database to generate various reports by using several filters.

You discover that some reports time out before they complete. You need to reduce the likelihood that the reports will time out. Solution: You partition the largest
tables.

Does this meet the goal?

A. Yes
B. No

Answer: B

NEW QUESTION 67

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for more than one question in
the series. Each question is independent of the other questions in this series. Information and details provided in a question apply only to that

question.

Table name Description
The table has 25 columns.

TBL1 « The table will contain 10 million records.
» Approximately 100,000 records will be inserted monthly.
» The table has 25 columns.
« The table has 25 columns.

TBL2 » The table will contain 100,000 records.

« The frequency of inserting, updating, and deleting records is low,

You have a Microsoft SQL Server database named DB1 that contains the following tables: You frequently run the following queries:
SELECT *
FROM TBLL

WHERE Columnl BETWEEN '"@1/01/20816' AND '38/94/2016°

SELECT :ColumnS, Columné
FROM TBL2
WHERE Column2 = 'ABCISEXYZ'

There are no foreign key relationships between TBL1 and TBL2.
You need to minimize the amount of time required for the two queries to return records from the tables. What should you do?

A. Create clustered indexes on TBL1 and TBL2.

B. Create a clustered index on TBL1 Create a nonclustered index on tbl2 and add the most frequently queried columns as included columns.
C. Create a nonclustered index on tbl2 only.

D. Create unique constraints on both TBL1 and TBL2. Create a partitioned view that combines columns from TBL1 and TBL2.

E. Drop existing indexes on TBL1 and then create a clustered columnstore inde

F. Create a nonclustered columnstore index on TBL1. Create a nonclustered index on TBL2.

G. Drop existing indexes on TBL1 and then create a cluwered columnstore inde

H. Create a nonclustered columnstore index on TBL1. Make no changes to TBL2.

I. Create check constraints on both TBL1 and tbl2. Create a partitioned view that combines columns from TBL1 and tbl2.

J. Create an indexed view that combines columns from TBL1 and TBL2.

Answer: F

NEW QUESTION 70

Background

You have a database named HR1 that includes a table named Employee.

You have several read-only, historical reports that contain regularly changing totals. The reports use multiple queries to estimate payroll expenses. The queries run
concurrently. Users report that the payroll estimate reports do not always run. You must monitor the database to identify issues that prevent the reports from
running.

You plan to deploy the application to a database server that supports other applications. You must minimize the amount of storage that the database requires.
Employee Table

You use the following Transact-SQL statements to create, configure, and populate the Employee table:
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CREATE TABLE dbo.Employee
(Employe=Id INT PRIMARY KEY,
LastName wvarchar(50),
FirstName wvarchar(50),
DepartmentId int,

HireDate datetime,
TerminationDate datetime,
SuperviscrId int,
CostCenterNumber int,
EmployeeStatus int,
EmployeePayRate int)

) GO

CREATE INDEX IX 1 on dbo.Employee

CREATE INDEX IX 2 on dbo.Employee

CREATE INDEX IX 3 on dbo.Employee

CREATE INDEX IX 4 on dbo.Employee

0

(LastName, PirstName, DepartmentId) INCLUDE (HireDate)
(LastName) INCLUDE (Employeeld, FirstName, DepartmentId)
(LastName, FirstName) INCLUDE (DepartmentlId)

(LastName, FirstName) INCLUDE (HireDate, DepartmentId)

INSERT INTO Employee {(Employeell, LastName, CostCenterNumber) VALUES (1001, ‘Employee A', 3001001)
INSERT INTO Employee (EmployeeIDl, LastName, CostCenterNumber) VALUES(1002, ‘Employee B', 3001001)

=0

Application

You have an application that updates the Employees table. The application calls the following stored procedures simultaneously and asynchronously:
- UspA: This stored procedure updates only the EmployeeStatus column.
- UspB: This stored procedure updates only the EmployeePayRate column.

The application uses views to control access to data. Views must meet the following requirements:

- Allow user access to all columns in the tables that the view accesses.
- Restrict updates to only the rows that the view returns. Exhibit

: Request Mode X—

7 oxisadisdsdzs

——

L~ Owner Mode X-

Key Lock

3 HOBL 10: 72057594046840832
Associated objid:
T2057594046840232

Object nase:

MyDatabase. dbo. Employee

Index name: PK_employee

HOBL 1D: 720%7594046240832
Associated objid:
TS5 7594046540032

object name:
MyDatabase.dbo. Employee
Index name: PE_eaployee

N Trensacticn descriptor:

Owner Mode: X

T =
_—Server process 16: 53
. server batch 1d: @
Execution context Id: @
Deadlock priority: 5
Log Used: 144
Owner Id: 41445345 d

_ Ox1S4d1sseaes
A=bian gt

Request Mode X—

Users must only be able to modify data in the Employee table by using the vwEmployee view. You must prevent users from viewing the view definition in catalog

views.

You need to identify the view attribute to use when creating vwEmployee. In the table below, identify the attributes that you must use.

NOTE: Make only one selection in each column.
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Answer Area

View creation Update Restrict access
attribute restriction to definition

SCHEMABINDING
VIEW_METADATA O ®
ENCRYPTION & O

CHECK OPTION

Answer:

Explanation: References: https://msdn.microsoft.com/en-us/library/ms187956.aspx

NEW QUESTION 73

You have a reporting application that uses a table named Tablel. You deploy a new batch update process to perform updates to Tablel.
The environment is configured with the following properties:

The database is configured with the default isolation setting.

The application and process use the default transaction handling.

You observe the application cannot access any rows that are in use by the process.

You have the following requirements:

Ensure the application is not blocked by the process.

Ensure the application has a consistent view of the data

Ensure the application does not read dirty data.

You need to resolve the issue and meet the requirements with the least amount of administrative effort. What should you do?

A. Enable the database for the ALLOW_SNAPSHOT _ISOLATION isolation leve

B. Modify the applicationfor the SERIALIZABLE isolation level.

C. Enable the database for the READ_COMITTED_SNAPSHOT isolation level.

D. Enable the application for the WITH (NOLOCK) hint.

E. Enable the database for the ALLOW_SNAPSHOT _ISOLATION isolation leve

F. Modify the application and the update process for the SNAPSHOT isolation level.

Answer: B

Explanation: Snapshot isolation must be enabled by setting the ALLOW_SNAPSHOT_ISOLATION ON database option before it is used in transactions. This
activates the mechanism for storing row versions in the temporary database (tempdb).

READ COMMITTED is the default isolation level for SQL Server. It prevents dirty reads by specifying that statements cannot read data values that have been
modified but not yet committed by other transactions. Other transactions can still modify, insert, or delete data between executions of individual statements within
the current transaction, resulting in non-repeatable reads, or "phantom"” data.

NEW QUESTION 76

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario is exactly the same in each question in this series.

You have a database named DB1 that contains the following tables: Customer, CustomerToAccountBridge, and CustomerDetails. The three tables are part of the
Sales schema. The database also contains a schema

named Website. You create the Customer table by running the following Transact-SQL statement:
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CREATE TABLE Customexr
(
CustomerNumlber int NOT NULL,
Customerfams= -wvarchar (5a) HNOT NULL,
CreatelDate date NOT NULL,
Gendcler Init,
Address wvarchar (50)
City varchar- (50)
Statce char(zZ) .,
CuastomerStacus kbitc NOT NULL,
MaricalStatcus=s bit,
Segment wvarchar(5),
CountrvCodes= char (2) ,
Birthday datcte,
PaostcalCode char{(s) .
PhonelNumlbber wvarchar (Z0) .
Accountl char (7).
AccountlStatus it
Account2 charxr (7).
AccountZStatus lohit,
CONSTRAINT PK Customer

PREIMARY KEY CLUSTERED

W

{(CustomeriMumber)

The value of the CustomerStatus column is equal to one for active customers. The value of the AccountlStatus and Account2Status columns are equal to one for

active accounts. The following table displays selected columns and rows from the Customer table.

Customer | CustomerMName Gender Accountl | AccountlStatus | Account? | Account2Status
(]

101 Mame A 0 0001001 0 0001002 1

102 Mame B 1 0002001 1 0002002 0

103 Mame C 0 0003001 1 0003002 1

You plan to create a view named Website.Customer and a view named Sales.FemaleCustomers. Website.Customer must meet the following requirements:

* Allow users access to the CustomerName and CustomerNumber columns for active customers.
* Allow changes to the columns that the view references. Modified data must be visible through the view.

* Prevent the view from being published as part of Microsoft SQL Server replication. Sales.Female.Customers must meet the following requirements:

* Allow users access to the CustomerName, Address, City, State and PostalCode columns.
* Prevent changes to the columns that the view references.
* Only allow updates through the views that adhere to the view filter.

You have the following stored procedures: spDeleteCustAcctRelationship and spUpdateCustomerSummary. The spUpdateCustomerSummary stored procedure

was created by running the following Transacr-SQL statement:

CREATE PROCEDURE uspUpdateCustomerSummary

ECustomerId INT
AB
EEGIN
SET NOCOUNT on;
UPDATE CustomerDetails SET TotalDepositiccountlOunt - TotalDepositAccountCount + 1
BEGIN TRAN;
BEGIN TRY
UPDATE CustomerDetails SET TotalAccountCoiant = TotalAccountCount + 1 WHERE
END TRY
BEGIN CATCH
IF ERTRANCOUNT > 0
ROLLBACK TRAN;?
END CATCH

IF BETRENCOUNT > 0
COMMIT TRAN;

WHERE CustomerID

You run the spUpdateCustomerSummary stored procedure to make changes to customer account summaries. Other stored procedures call the

spDeleteCustAcctRelationship to delete records from the CustomerToAccountBridge table.

You must update the design of the Customer table to meet the following requirements.

* You must be able to store up to 50 accounts for each customer.

* Users must be able to retrieve customer information by supplying an account number.

* Users must be able to retrieve an account number by supplying customer information.

Which three Transact_SQL segments should you use to develop the solution? To answer, move the appropriate code
answer area and arrange them in the correct order.
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Tramsact-SOL segments Answer Area

tomerStatus) INCLUDE
rl

©

|[CREATE NONCLUSTERED INDEX IX Customer CreatedDats @

ON Customer (CreatedDate) INCLUDE (Ssgment, Country-
Code, PhoneNumber)

[CREATE CLUSTERED INDEX IX Customer CreatedDate

Answer:

Explanation: Box 1: Clustered Index

With the same size of keys, the nonclustered indexes need more space than clustered indexes. Box 2, Box 3:

Include the CustomerStatus column in the index, and only when CustomerStatusnot equal to 1 (the active customers).
References:

http://www.sglserverlogexplorer.com/overview-of-cluster-and-noncluster-index/

NEW QUESTION 79

You have a table named Person.Address that includes the following columns:

AddressID

AddressLinel

AddressLine2

City

StateProvincelD

PostakCode

RowGuid

ModifiedDate

You need to create a honclustered index on PostalCode named IX_Address_PostalCode that uses the following included columns:
AddressLinel

AddressLine2

City

StateProvincelD

How should you complete the Transact-SQL statement? To answer, select the appropriate Transact SQL segments in the answer are.

Answer Area

CREATE NONCLUSTEEREED v TX Address PodialCode
ON

o ‘ INCLUDE

INCLUDE AL

INDEX WHEERE

WHERE (Person.lddress (PostalCode

(AddressLinel, AddressLinel, City, StateProvinceIl)

ON
INCLUDE
INDEX
WHERE

Answer:

Explanation: Box 1: INDEX

Box 2: ON

Box 3: INCLUDE

INCLUDE (column [,... n]) specifies the non-key columns to be added to the leaf level of the nonclustered index. The nonclustered index can be unique or non-
unique.

References:
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https://docs.microsoft.com/en-us/sql/t-sql/statements/create-index-transact-sql?view=sql-server-2017

NEW QUESTION 80

Note: The question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for more than one question in the
series. Each question is independent of the other question in the series. Information and details provided in a question apply only to that question.

You have a database named DB1. The database does not use a memory-optimized filegroup. The database contains a table named Tablel. The table must
support the following workloads:

Workload Type Description

Reporting | Existing The reporting workload must scan most of the records in the table to
aggregate on a number of columns. A clustered columnstore index is
already created on the table to support this workload.

OoLTP New The OLTP workload must support 3,000 transactions per second.
Rows are identified by using two columns. The filter is variant on one
of the two columns while constant on the other. Only a small
number of records with a few columns are returned by the query.

You need to add the most efficient index to support the new OLTP workload, while not deteriorating the existing Reporting query performance.
What should you do?

A. Create a clustered index on the table.

B. Create a nonclustered index on the table.

C. Create a nonclustered filtered index on the table.

D. Create a clusteredcolumnstore index on the table.

E. Create a nonclustered columnstore index on the table.
F. Create a hash index on the table.

Answer: C

Explanation: A filtered index is an optimized nonclustered index, especially suited to cover queries that select from a well-defined subset of data. It uses a filter
predicate to index a portion of rows in the table. A well-designed

filtered index can improve query performance, reduce index maintenance costs, and reduce index storage costs compared with full-table indexes.

References: https://technet.microsoft.com/en-us/library/cc280372(v=sql.105).aspx

NEW QUESTION 81

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unigue solution. Determine whether the
solution meets the stated goals.

You have a database named DB1 that includes a table named Sales-Orders. You grant a user named Userl select permissions on the sales schema.

You need to ensure that Userl can select data from the sales .orders table without specifying the schema name in any Transact-SQL statements.

Solution: You create a stored procedure in the sales schema that selects the data from the sales. orders table.

Does the solution meet the goal?

A. Yes
B. No

Answer: A

NEW QUESTION 83

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some questions sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a 3-TB database. The database server has 64 CPU cores. You plan to migrate the database to Microsoft Azure SQL Database.

You need to select the service tier for the Azure SQL database. The solution must meet or exceed the current processing capacity.

Solution: You select the Premium service tier. Does this meet the goal?

A. Yes
B. No

Answer: A

Explanation: Premium service is required for 3 TB of storage. Single database DTU and storage limits

Basic Standard Premium
Maximum storage size 2 GB 178 478
Maximum DTUs 5 3000 4000
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References: https://docs.microsoft.com/en-us/azure/sql-database/sql-database-service-tiers-dtu

NEW QUESTION 84

You are developing a stored procedure with the following requirements:

*Accepts an integer as input and inserts the value into a table.

*Ensures new transactions are committed as part of the outer transactions.

*Preserves existing transactions if the transaction in the procedure fails.

*If the transaction in the procedure fails, rollback the transaction.

How should you complete the procedure? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.

CHEATE PROCEDURE Procedurel
Evalue INT

AS BEGTN
SET NACT_ABORT ON
DECLA&RE @Tr'ﬂnfdlunt INT
SET @Tranfount = BETRANCOUNT
IF >

e

ik

@TranCount > 0
HACT STATEQ= -1
HACT STATE( =0
DOTRANCOUNT = 1

SAVE TRANSACTION SavePaint

ELSE

BEGIN TRANSACTION

BEGIN TRY
INSERT Tablel (Keyl) VALUES (@Value)

h -
@TranCount =0
XACT STATE() = -1
XACT STATE() = 0
S@TRANCOUNT = 1

COMMOT ]’
EHO TRY
BEGIM CATCH
IF @TranCount = @
ROLLBACK TRANSACTION
ELSE IF | ..
i@Trancount =0 be
[XACT_STATEQ =0
[MACT STATEQ <> -1
[E@TRANCOUNT =1

ROLLBACK TRANSACTION SavePolnt
END CATCH b
END

Answer:

Explanation:  cer yacr asoar on
DECLARE @TranCount INT
SET @TranCount = EETRANCOUNT
IF | @TranCount > 0 S

SAVE TRANSACTION SavePolnt

ELSE
BEGIN TRANSACTION
BEGIN TRY
INSERT Tablel (Keyl) VALUES (@value)
If XACT STATE(Q =0 -
COMMIT
END: TRY
BEGIN CATCH
IF @franCount = @
ROLLBACK TRANSACTION
eLse IF  MACT STATE( <> -1 'Y
ROLLBACK TRAMNSACTION SavePolnt
END' CATCH
END

NEW QUESTION 86
Note: this question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for more than one question in the

series. Each question is independent of the other questions in the series. Information and details provided in a question apply only to that question.
You are developing an application to track customer sales.
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You need to create a database object that meets the following requirements:

- Return a value of 0 if data is inserted successfully into the Customers table.

- Return a value of 1 if data is not inserted successfully into the Customers table.
- Support logic that is written by using managed code.

- Support TRY...CATCH error handling. What should you create?

A. extended procedure

B. CLR procedure

C. user-defined procedure
D. DML trigger

E. scalar-valued function
F. table-valued function

Answer: D

Explanation: DML triggers is a special type of stored procedure that automatically takes effect when a data manipulation language (DML) event takes place that
affects the table or view defined in the trigger. DML events include INSERT, UPDATE, or DELETE statements. DML triggers can be used to enforce business rules
and data integrity, query other tables, and include complex Transact-SQL statements.

References: https://msdn.microsoft.com/en-us/library/ms178110.aspx

NEW QUESTION 87

You are analyzing the performance of a database environment.

You suspect there are several missing indexes in the current database.

You need to return a prioritized list of the missing indexes on the current database.

How should you complete the Transact-SQL statement? To answer, drag the appropriate Transact-SQL segments to the correct locations. Each Transact-SQL
segment may be used once, more than once or not at all. You may need to drag the split bar between panes or scroll to view content.

Transact-SQOL segments Answer Area
sys.dm db missing index group stats SRLRCE 05 s ; _ _
~ i = = = , (avg_total user cost * avg user impact) * (user_seeks + user_scans)
sys.dm db missing index details a3 Impact
= = » mid.equality columns
sys.dm db missing index stats , mid.inegquality columns
, mid.,included columns
5ql handle
S At HANALE FROM Transact-SQL statement AS stats
Pld nancie g - 1 s m
: gk INNER JOIN sys.dm db missing index groups AS mig ON stats.group handle =

group handle
AS mid ON mig.index_handle =

INNER JOIN sys.objects so WITH (nolock) ON mid.object_id = so.object id
WHERE stats.group handle IN |

SELECT TOP (5000) Transact=-50QL statement

FROM Transact-5QL statement WITH (nolocks)

ORDER BY {avg total user cost * avg user impact) * (user seeks +

user scans DESC)

Answer:

Explanation: Box 1: sys.db_db_missing_index_group_stats

The sys.db_db_missing_index_group_stats table include the required columns for the main query: avg_total_user_cost, avg_user_impact, user_seeks, and user
scans.

Box 2: group_handle

Example: The following query determines which missing indexes comprise a particular missing index group, and displays their column details. For the sake of this
example, the missing index group handle is 24.

SELECT migs.group_handle, mid.*

FROM sys.dm_db_missing_index_group_stats AS migs INNER JOIN sys.dm_db_missing_index_groups AS mig ON (migs.group_handle =
mig.index_group_handle) INNER JOIN sys.dm_db_missing_index_details AS mid ON (mig.index_handle = mid.index_handle)

WHERE migs.group_handle = 24;

Box 3: sys.db_db_missing_index_group_stats

The sys.db_db_missing_index_group_stats table include the required columns for the subquery: avg_total_user_cost and avg_user_impact.

Example: Find the 10 missing indexes with the highest anticipated improvement for user queries

The following query determines which 10 missing indexes would produce the highest anticipated cumulative improvement, in descending order, for user queries.
SELECT TOP 10 *

FROM sys.dm_db_missing_index_group_stats

ORDER BY avg_total_user_cost * avg_user_impact * (user_seeks + user_scans)DESC;

NEW QUESTION 88

Note: this question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for more than one question in the
series. Each question is independent of the other questions in the series. Information and details provided in a question apply only to that question.

You are developing an application to track customer sales.

You need to create a database object that meets the following requirements:

- Launch when table data is modified.

- Evaluate the state a table before and after a data modification and take action based on the difference.
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- Prevent malicious or incorrect table data operations.

- Prevent changes that violate referential integrity by cancelling the attempted data modification.

- Run managed code packaged in an assembly that is created in the Microsoft. NET Framework and located into Microsoft SQL Server.
What should you create?

A. extended procedure

B. CLR procedure

C. user-defined procedure
D. DML trigger

E. scalar-valued function
F. table-valued function

Answer: B

Explanation: You can create a database object inside SQL Server that is programmed in an assembly created in the Microsoft .NET Framework common
language runtime (CLR). Database objects that can leverage the rich programming model provided by the CLR include DML triggers, DDL triggers, stored
procedures, functions, aggregate functions, and types.

Creating a CLR trigger (DML or DDL) in SQL Server involves the following steps:

Define the trigger as a class in a .NETFramework-supported language. For more information about how to program triggers in the CLR, see CLR Triggers. Then,
compile the class to build an assembly in the .NET Framework using the appropriate language compiler.

Register the assembly in SQL Server using the CREATE ASSEMBLY statement. For more information about assemblies in SQL Server, see Assemblies
(Database Engine). Create the trigger that references the registered assembly.

References: https://msdn.microsoft.com/en-us/library/ms179562.aspx

NEW QUESTION 89
You have the following stored procedure:

CREATE PROCEDURE AddNextMNumber BNumber INT
AS
BEGIM
SET ANSI_DEFAULTS ON
INSERT INTC Mumbers (Number) VALUES (@Number)
END

The Numbers table becomes unavailable when you run the stored procedure. The stored procedure obtains an exclusive lock on the table and does not release
the lock.

What are two possible ways to resolve the issue? Each correct answer presents a complete solution.

NOTE: Each correct selection is worth one point.

A. Remove the implicit transaction and the SET ANSI_DEFAULTS ON statement.

B. Set the ANSI_DEFAULT statement to OFF and add a COMMIT TRANSACTION statement after the INSERT statement.
C. Add a COMMIT TRANSACTION statement after the INSERT statement.

D. Remove the SET ANSI DEFAULTS ON statement.

Answer: B

NEW QUESTION 90

Note: This question is part of a series of questions that present the same scenario. Each question in this series contains a unique solution. Determine whether the
solution meets the stated goals.

You are developing a new application that uses a stored procedure. The stored procedure inserts thousands of records as a single batch into the Employees table.
Users report that the application response time has worsened since the stored procedure was updated. You examine disk-related performance counters for the
Microsoft SQL Server instance and observe several high values that include a disk performance issue. You examine wait statistics and observe an unusually high
WRITELOG value.

You need to improve the application response time.

Solution: You update the application to use implicit transactions when connecting to the database. Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation: References:
http://sgltouch.blogspot.co.za/2013/05/writelog-waittype-implicit-vs-explicit.html

NEW QUESTION 93

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some questions sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have a 3-TB database. The database server has 64 CPU cores. You plan to migrate the database to Microsoft Azure SQL Database.

You need to select the service tier for the Azure SQL database. The solution must meet or exceed the current processing capacity.

Solution: You select the Basic service tier. Does this meet the goal?

A. Yes
B. No

Answer: B

Explanation:
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Basic Standard Premium
Maximum storage size 2 GB 1TB 478
Maximum DTUs 5 3000 4000

Premium service is required for 3 TB of storage. Single database DTU and storage limits
References: https://docs.microsoft.com/en-us/azure/sql-database/sql-database-service-tiers-dtu

NEW QUESTION 94

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario is exactly the same in each question in this series.

You have a database that contains the following tables: BlogCategory, BlogEntry, ProductReview, Product, and SalesPerson. The tables were created using the
following Transact SQL statements:

CRELTE TAELE BlogClategory

{
CategoryID int NOT HULL PRIMZRY EEY,
CategoryWName nvarchar (20)

Vs

CRELTE TARELE BlogEntry
{
Entry int NOT PRIMARY EEY,
Entrytitle nvarchar (30},
Category int NOT NULL FOREIGN KEY REFERENCES EBlogCategory
{CategoryID)
Vi

CREATE TAELE dko.ProductBReview

{
ProductReviewID IDENTITY (1,1} PBRIMARY EEY,
Product int NOT NULL,
Beview varchar (1000) NOT MNULL

Vs

CREATE TABLE dbo.Product

{
EroductID int Identity(l,1l) FRIMLRY EEY,
Name wvarchar (1000) NOT NULL

)i

CEELRTE TAELE dbo.2alesPers=on

{
SalesPersonID int IDENTITY(1,1) PRIMARY EEY,
Name wvarchar (1000) NOT NULL,
SalssID Money

)

You must modify the ProductReview Table to meet the following requirements:

* The table must reference the ProductID column in the Product table

* Existing records in the ProductReview table must not be validated with the Product table.

* Deleting records in the Product table must not be allowed if records are referenced by the ProductReview table.

* Changes to records in the Product table must propagate to the ProductReview table.

You also have the following database tables: Order, ProductTypes, and SalesHistory, The transact-SQL statements for these tables are not available.
You must modify the Orders table to meet the following requirements:

* Create new rows in the table without granting INSERT permissions to the table.

* Notify the sales person who places an order whether or not the order was completed.

You must add the following constraints to the SalesHistory table:

* a constraint on the SalelD column that allows the field to be used as a record identifier

* a constant that uses the ProductID column to reference the Product column of the ProductTypes table

* a constraint on the CategorylID column that allows one row with a null value in the column

* a constraint that limits the SalePrice column to values greater than four

Finance department users must be able to retrieve data from the SalesHistory table for sales persons where the value of the SalesYTD column is above a certain
threshold.

You plan to create a memory-optimized table named SalesOrder. The table must meet the following requirements:

* The table must hold 10 million unique sales orders.

* The table must use checkpoints to minimize 1/O operations and must not use transaction logging.

* Data loss is acceptable.

Performance for queries against the SalesOrder table that use Where clauses with exact equality operations must be optimized.

You need to enable referential integrity for the ProductReview table.

How should you complete the relevant Transact-SQL statement? To answer? select the appropriate Transact-SQL segments in the answer area.
Select two alternatives.

A. For the first selection select: WITH CHECK

B. For the first selection select: WITH NOCHECK

C. For the second selection select: ON DELETE NO ACTION ON UPDATE CASCADE
D. For the second selection select: ON DELETE CASCADE ON UPDATE CASCADE
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E. For the second selection select: ON DELETE NO ACTION ON UPDATE NO ACTION
F. For the second selection select: ON DELETE CASCADE ON UPDATE NO ACTION

Answer: BC

Explanation: B: We should use WITH NOCHECK as existing records in the ProductReview table must not be validated with the Product table.

C: Deletes should not be allowed, so we use ON DELETE NO ACTION. Updates should be allowed, so we use ON DELETE NO CASCADE

NO ACTION: the Database Engine raises an error, and the update action on the row in the parent table is rolled back.

CASCADE: corresponding rows are updated in the referencing table when that row is updated in the parent table.

Note: ON DELETE { NO ACTION | CASCADE | SET NULL | SET DEFAULT }

Specifies what action happens to rows in the table that is altered, if those rows have a referential relationship and the referenced row is deleted from the parent
table. The default is NO ACTION.

ON UPDATE { NO ACTION | CASCADE | SET NULL | SET DEFAULT }

Specifies what action happens to rows in the table altered when those rows have a referential relationship and the referenced row is updated in the parent table.
The default is NO ACTION.

Note: You must modify the ProductReview Table to meet the following requirements:

1. The table must reference the ProductID column in the Product table

2. Existing records in the ProductReview table must not be validated with the Product table.

3. Deleting records in the Product table must not be allowed if records are referenced by the ProductReview table.

4. Changes to records in the Product table must propagate to the ProductReview table. References: https://msdn.microsoft.com/en-us/library/ms190273.aspx
https://msdn.microsoft.com/en-us/library/ms188066.aspx

NEW QUESTION 99

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for more than one question in
the series. Each question os independent of the other questions in this series. Information and details provided in a question apply only to that question.

You have a database named DB1. There is no memory-optimized filegroup in the database. You run the following query:

DECLARE (ELasztMName wvarchar(20) = “contoaco”;

SELECT P.FirstName, Addr.*

From Person.Perzon P

JOIN Person.BusinessEntitylhddress On F.BusinessEntityID =
BusinessEntityAddress=s.BusinessEntityID

JOIN Perszon. [Rddress] ADDr ON BusinessEntityAddress.AddressID =
Addr.Addre=ssID

WHERE FP.La=tName = [ELastlName;

The following image displays the execution plan the query optimizer generates for this query:

(H 23 LC] I,

SELECT =+—— Hash Match +=—HNesated Loops — Clustered Index Scan (Clustered)
Cost: 0% {Inter (Inner Join) —s— [Pﬂrﬁﬂn].[PK_Perann_BusinEﬂBEntityID
Join) Cost: 0% Cost: BB%

I hiﬁl

Table Scan .~ Clusteres Index Saeeak (clusterad)
[BusinessEntityhddress] . (P-
K Business. ..
. Cest: 0%

Users frequently run the same query with different values for the local variable @lastName. The table named Person is persisted on disk.
You need to create an index on the Person.Person table that meets the following requirements:

- All users must be able to benefit from the index.

- FirstName must be added to the index as an included column. What should you do?

A. Create a clustered index on the table.

B. Create a nonclustered index on the table.

C. Create a nonclustered filtered index on the table.

D. Create a clustered columnstore index on the table.

E. Create a nonclustered columnstoreindex on the table.
F. Create a hash index on the table.

Answer: B
Explanation: By including nonkey columns, you can create nonclustered indexes that cover more queries. This is because the nonkeycolumns have the following
benefits:

They can be data typesnot allowed as index key columns.
They are not considered by the Database Engine when calculating the number of index key columns or index key size.
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NEW QUESTION 102

Note: This question is part of a series of questions that use the same or similar answer choices. An Answer choice may be correct for more than one question in
the series. Each question independent of the other questions in this series. Information and details provided in a question apply only to that question.

You are a database developer for a company. The company has a server that has multiple physical disks. The disks are not part of a RAID array. The server hosts
three Microsoft SQL Server instances. There are many SQL jobs that run during off-peak hours.

You must monitor and optimize the SQL Server to maximize throughput, response time, and overall SQL performance.

You need to identify previous situations where a modification has prevented queries from selecting data in tables.

What should you do?

A. Create a sys.dm_os_waiting_tasks query.

B. Create a sys.dm_exec_sessions query.

C. Create a Performance Monitor Data Collector Set.
D. Create a sys.dm_os_memory_objects query.

E. Create a sp_configure ‘max server memory’query.
F. Create a SQL Profiler trace.

G. Create a sys.dm_os_wait_stats query.

H. Create an Extended Event.

Answer: G

Explanation: sys.dm_os_wait_stats returns information about all the waits encountered by threads that executed. You can use this aggregated view to diagnose
performance issues with SQL Server and also with specific queries and batches.

NEW QUESTION 106
You have a database that contains both disk-based and memory-optimized tables.
You need to create two modules. The modules must meet the requirements described in the following table.

Module Requirements
Module 1 - must be encrypted by using the ENCRYPRION option
- must support updates on both disk-based and memory-optimized tables

- must support OUTPUT parameters

Module 2 - must access only memory-optimized tables

- must support updates on memory-optimized tables

- must support heavy aggregations with highest performance
- must support OUTPUT parameters

Which programming object should you use for each module? To answer, select the appropriate object types in the answer area.

Answer Area
Module Object type

Module 1 v

Interpreted stored procedure
multi-statement table-valued function
natively complied stored procedure
natively compiled user-defined function
user-defined scalar function

Module 2

Interpreted stored procedure
multi-statement table-valued function
natively complied stored procedure
natively compiled user-defined function
user-defined scalar function

Answer:

Explanation: Returning Data by Using OUTPUT Parameters

If you specify the OUTPUT keyword for a parameter in the procedure definition, the stored procedure can return the current value of the parameter to the calling
program when the stored procedure exits.

SQL Server stored procedures, views and functions are able to use the WITH ENCRYPTION option to disguise the contents of a particular procedure or function
from discovery.

Native Compilation of Tables and Stored Procedures

In-Memory OLTP introduces the concept of native compilation. SQL Server can natively compile stored procedures that access memory-optimized tables. SQL
Server is also able to natively compile

memory-optimized tables. Native compilation allows faster data access and more efficient query execution than interpreted (traditional) Transact-SQL. Native
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compilation of tables and stored procedures produce DLLs.
References: https://technet.microsoft.com/en-us/library/ms187004(v=sql.105).aspx https://msdn.microsoft.com/en-us/library/dn249342.aspx

NEW QUESTION 110

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a database that contains a table named Employees. The table stores information about the employees of your company.

You need to implement the following auditing rules for the Employees table:

- Record any changes that are made to the data in the Employees table.

- Customize the data recorded by the audit operations.

Solution: You implement a check constraint on the Employees table. Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation: Check constraints cannot be used to track changes in a table. References: https://msdn.microsoft.com/en-us/library/bb933994.aspx

NEW QUESTION 115

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario is exactly the same in each question in this series.

You have a database named Sales that contains the following database tables: Customer, Order, and Products. The Products table and the Order table are shown
in the following diagram.

Orders Products *
* OrderlD FroductlD
ProductName ProductName
D ipti
ProductID QESCHIEI:I 'DL:'
onHan
EmployeelD ty .
SupplierName
OrderDate :
SupplieriD
Discontinued

The customer table includes a column that stores the data for the last order that the customer placed.

You plan to create a table named Leads. The Leads table is expected to contain approximately 20,000 records. Storage requirements for the Leads table must be
minimized.

You need to create triggers that meet the following requirements:

* Optimize the performance and data integrity of the tables.

* Provide a custom error if a user attempts to create an order for a customer that does not exist.

* In the Customers table, update the value for the last order placed.

* Complete all actions as part of the original transaction.

In the table below, identify the trigger types that meet the requirements.

NOTE: Make only selection in each column. Each correct selection is worth one point.

Answer Area
Trigger type Provide custom Update Customer table
AFTER INSERT trigger © ®
INSTEAD OF INSERT trigger & D
AFTER UPDATE trigger &) ©
INSTEAD OF UPDATE trigger ) &
Answer:

Explanation: INSTEAD OF INSERT triggers can be defined on a view or table to replace the standard action of the INSERT statement.
AFTER specifies that the DML trigger is fired only when all operations specified in the triggering SQL statement have executed successfully.
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References: https://technet.microsoft.com/en-us/library/ms175089(v=sql.105).aspx

NEW QUESTION 116
You are analyzing the memory usage of a Microsoft SQL Server instance. You need to obtain the information described on the following table.

Requirement Details
Requirement 1 | Total amount of memory currently used by SQL Server

Requirement 2 | Total amount of memory required by SQL Server for running processers
efficiently

Requirement 3 | Total amount of memory used by a process

Which performance counter should you use for each requirement? To answer, drag the appropriate performance counters to the correct requirements. Each
performance counter may be used once, more than once or not at all. You may need to drag the split bat between panes or scroll to view content.
NOTE: Each correct selection is worth one point.

Transact-SQL segments Answer Area
' Memory: Available Bytes Requirement Performancr counter
- Requiremeant 1 Performancr counter
SQL Server: Memory Manager: SQL Cache Memory (KB) 9
Requirement 2 Performancr counter
- SQL Server: Buffer Manager: Page reads/sec
Requirement 3 Performancr counter

SAL Server: Memory Manager: Total Server Memory (KB)
SQL Server: Memory Manager: Target Server Memory (KB)
- SQL Server: Memory Manager: Granted Workspace Memory (KB)
- SQL Server: Memory Manager: Maximum Workspace Memory {KB}'

Process: working Set

Answer:

Explanation: Requirementl: SQL Server: Memory Manager: Total Server Memory (KB)

This counter specifies the amount of memory the server has committed using the memory manager. Requirement2: SQL Server. Memory Manager: Granted
Workspace Memory (KB)

Specifies the total amount of memory currently granted to executing processes, such as hash, sort, bulk copy, and index creation operations.

Requirement3: Process: working Set

Each time a process is created, it reserves the minimum working set size for the process. The virtual memory manager attempts to keep enough memory for the
minimum working set resident when the process is active, but keeps no more than the maximum size.

References:

https://msdn.microsoft.com/en-us/library/ms190924.aspx https://blogs.technet.microsoft.com/askperf/2007/05/18/sql-and-the-working-set/

NEW QUESTION 117

You maintain a Microsoft Azure SQL Database instance.

You grant Userl the SELECT and EXECUTE permissions for all objects in the dbo schema. You must create a stored procedure that allows User1 to view the
following information:

details for each connection to the database

a list of all active user connections and internal tasks

You need to create the stored procedure for Userl and ensure that Userl can run the stored procedure without any error.

How should you complete the Transact-SQL statements? To answer, drag the appropriate Transact-SQL segments to the correct locations. Each Transact-SQL
segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.

NOTE: More than one combination of answer choices is correct. You will receive credit for any of the correct combinations you select.
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Transact-SQL segments Answer Area

GRANT SELECT ON SCHEMA: :sys TO Userl S ST s s =
= 3 CRETAE PROCEDURE ViewConnections
GRANT VIEW DATABASE STATE TO Userl AS Transact-SQL segment
GRANT VIEW DEFINITION TO I ! - 3 S0T -
GRAN VIEW DEFINITION TO Userl ':':a'+5=_jt_bc._‘_‘ Se'mgnt
®
. @ GO
SELECT = FROM sys.dm exec connections s
® Transact-SQL segmen
SELECT = FROM sys.dm exec requests
SELECT = FROM sys.dm exec sessions
Answer:

Explanation: Box 1: Sys.dm_exec_connections

Sys.dm_exec_connections returns information about the connections established to this instance of SQL Server and the details of each connection. Returns server
wide connection information for SQL Server. Returns current database connection information for SQL Database.

Box 2: sys.dm_exec_sessions

sys.dm_exec_sessions returns one row per authenticated session on SQL Server. sys.dm_exec_sessions is a server-scope view that shows information about all
active user connections and internal tasks.

Box 3: GRANT VIEW DATABASE STATE To Userl

SQL Database: Requires VIEW DATABASE STATE to see all connections to the current database. VIEW DATABASE STATE cannot be granted in the master
database.

NEW QUESTION 119

You are developing a database reporting solution for a table that contains 900 million rows and is 103 GB. The table is updated thousands of times a day, but data
is not deleted.

The SELECT statements vary in the number of columns used and the amount of rows retrieved.

You need to reduce the amount of time it takes to retrieve data from the table. The must prevent data duplication.

Which indexing strategy should you use?

A. a nonclustered index for each column in the table

B. a clustered columnstore index for the table

C. a hash index for the table

D. a clustered index for the table and nonclustered indexes for nonkey columns

Answer: B

Explanation: Columnstore indexes are the standard for storing and querying large data warehousing fact tables. It uses column-based data storage and query
processing to achieve up to 10x query performance gains in your data warehouse over traditional row-oriented storage.

A clustered columnstore index is the physical storage for the entire table.

Generally, you should define the clustered index key with as few columns as possible.

A nonclustered index contains the index key values and row locators that point to the storage location of the table data. You can create multiple nonclustered
indexes on a table or indexed view. Generally, nonclustered indexes should be designed to improve the performance of frequently used queries that are not
covered by the clustered index.

References:

https://docs.microsoft.com/en-us/sqgl/relational-databases/indexes/columnstore-indexes-overview?view=sql-serv

NEW QUESTION 124

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution. Determine whether the
solution meets the stated goals.

You have a table that has a clustered index and a nonclustered index. The indexes use different columns from the table. You have a query named Query1 that
uses the nonclustered index.

Users report that Queryl takes a long time to report results. You run Queryl and review the following statistics for an index seek operation:
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Index Seek (NonClustered)

Scan a particular range of rows from a nonclustered index.

Physical Operation

Logical Operation

Actual Execution Mode
Actual Number of Rows
Actual Number of Batches
Estimated I/O Cost
Estimated Operator Cost
Estimated CPU Cost
Estimated Subtree Cost
Estimated Number of Executions
Number of Executions
Estimated Number of Rows
Estimated Row Size

Actual Rebinds
Actual Rewinds

Ordered
Node ID

You need to resolve the performance issue.

Solution: You update statistics for the nonclustered index. Does the solution meet the goal?

A. Yes
B. No

Answer: A

Explanation: We see Actual Number of Row is 3571454, while Estimated Number of Rows is 0.

This indicates that the statistics are old, and need to be updated.

NEW QUESTION 129

You need to build a function that meets the following requirements:

*Returns multiple rows

*Optimizes the performance of the query within the function
How should you complete the Transact-SQL statement? To answer, drag the appropriate Transact-SQL segments to the correct locations. Each Transact-SQL
segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.
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3571454

0
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Transact-SQL segments -

RETURNS TABLE AS 4

BEGIN

INSERT INTO @Prices

SELECT ListPrice FROM Product

WHERE Productld = @ProductId

RETURN

EMD 3

RETURNS @Prices TABLE (LiztPrice monsy) AS

O

RETURNS [Money] AS

BEGIN

SELECT fListPrice = ListPrice FROM Product
WHERE Productld = @Productid

RETURN @ListPrice

END

Answer:

Explanation:

BEGIN

INSERT INTO @Prices

SELECT ListPrice FROM Product
WHERE ProductId = @Productld
RETURN

END

HETURNS @Prices TABLE (ListPrice money) AS

NEW QUESTION 132

Answer area

CREATE FUNCTION dbo.GetPrice (@Produ

Transact-5QL scgment

Transact-5QL segment

- Answer area

Bl

| INSERT INTO @Prices

| SELECT ListPrice FROM Product
‘I-HERE Productlid = @ProductId =

RETURN

| END

anmm ( I

SELECT ListPrice FROM Product I

WHERE ProductId = @ProductId

|

) L3
: T r— . ——

Note: This question is part of a series of questions that present the same scenario. Each question in this series contains a unique solution. Determine whether the

solution meets the stated goals.

You are developing a new application that uses a stored procedure. The stored procedure inserts thousands of records as a single batch into the Employees table.
Users report that the application response time has worsened since the stored procedure was updated. You examine disk-related performance counters for the
Microsoft SQL Server instance and observe several high values that include a disk performance issue. You examine wait statistics and observe an unusually high

WRITELOG value.
You need to improve the application response time.

Solution: You replace the stored procedure with a user-defined function. Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation: References: https://msdn.microsoft.com/en-us/library/ms345075.aspx

NEW QUESTION 133
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